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Aun EX2T quarietwise, Arcl Asym: Bearm ON, Laser OFF

Fun 6227 quanetwise, ISba2 Acym: Baam ON, Lasear OFF
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Flun G227 euanebwise, DSbg2 Asym: Baam ON, Lasar OFF

Flun B227 quarnetwise, Side Fingar haym: Beam ON, Laser OFF
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Flun G227 quarnetwise, LISba1 Asym: Baam ON, Lasar DFF
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Flun 6227 quanatwise, DSba1 Asym: Baam O, Lasar DFF
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Acc0 Asym (ppt): 3212.69 +/- 111.03
USbg1 Asym (ppt): -17.90 +/- 2.71
USbg2 Asym (ppt): -12.76 +/- 1.85
DSbg1 Asym (ppt): -17.15 +/- 0.45
DSbg2 Asym (ppt): -18.78 +/- 0.42

Top Finger Asym (ppt): -8.18 +/- 1.51

Side Finger Asym (ppt): -5.06 +/- 1.38
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Run 6227, quartetwise: USbg1 vs time

+ + ¥+

: DSbg1 vs time
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: UShg2 vs time
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